
https://www.twinkl.co.uk/
https://www.twinkl.co.uk/resources/white-rose-maths-resources/year-5-white-rose-maths-resources-key-stage-1-year-1-year-2/autumn-block-4-multiplication-and-division-year-5-white-rose-maths-resources-key-stage-1-year-1-year-2


  

Diving into Mastery Guidance for Educators 

 
Diving 

Deeper 

Deepest 



  

Aim 
• Multiply and divide whole numbers and those involving decimals  

by 10, 100 and 1000. 



  

Diving Divide by 10, 100 and 1000 

37 000 

What number 
is shown on 
the place 
value chart?  

HTh TTh Th H T O 

If I divide this number by 10, it becomes          .  
The digits move          place to the          . 
 
If I divide this number by 100, it becomes          .  
The digits move          places to the          . 
 
If I divide this number by 1000, it becomes          .  
The digits move           places to the           . 

Complete the sentences: 

3700 
one right 

370 
two right 

37 
three right 



  

Diving Divide by 10, 100 and 1000 

3750 years?  

90 230 years?  

How many decades are there in… 

How many centuries are there in… 

How many millennia are there in… 

65 500 years?  

320 100 years?  

62 000 years?  

804 000 years?  

375 decades 

9023 decades 

655 centuries 

3201 centuries 

62 millennia 

804 millennia 

Complete these calculations: 
 
6500 ÷            = 65                        
 
             ÷ 100 = 527 
 
632 000 ÷ 1000 = 

100 

52 700 

632 



  

Divide by 10, 100 and 1000 Deeper 

To divide by 1000, I can divide by 10, then 
divide by 10 and divide by 10 again.  

Do you agree with Jason? 
Explain your thinking. 

Jason is correct.  
 
10 × 10 × 10 = 1000  
Therefore, dividing by 10 three times is 
the same as dividing by 1000.  



  

Divide by 10, 100 and 1000 Deeper 

• Vesta is 100 times 
younger than Athena. 

• Athena is double the 
age of Vulcan. 

• Juno is 10 times 
younger than Athena. 

• Ceres is 1000 times 
younger than Vulcan. 

• Vulcan is 206 000 
years old. 

• Apollo is 1000 times 
younger than Athena. 

Using the clues below, can 
you work out the ages of 
these new planets? 

Juno –  
41 200 

years old 

Athena – 412 000  
years old  

Ceres –  
206 years old  

Vesta – 4120  
years old   

Apollo  
– 412 

 years old 



  

Divide by 10, 100 and 1000 Deepest 

Insert each of the numbers, 10, 100 and 1000, 
to make this statement true.  

43 000 ÷        < 527 000 ÷        > 65 000 ÷ 

How many solutions are there? 

There are 2 solutions: 

43 000 ÷ 100 < 527 000 ÷ 10 > 65 000 ÷ 1000            

43 000 ÷ 1000 < 527 000 ÷ 10 > 65 000 ÷ 100            

A ÷ 10 < B ÷ 100 
  
What could the values of A and B be? 
Find 3 possible solutions. 

Possible solutions include the following: 

A = 72 000   B = 850 000 

A = 63 300   B = 950 000 

A = 75 000   B = 820 000 



  

Dive in by completing your own activity! 

Divide by 10, 100 and 1000 


